ol

o
Wl
Nfo
mo
el
ojn

@ ¢ 9 ze = AZtoltt,
® sc % 1g=FH

@ ‘a+ b= 180° ot}

® ‘a = se °|t}.



2. oz 2"/ /m D W x4 2y O G FSkeien

/A

Y+10° Y 32+20°

m
$+40°7




@ 1//m°)H za = e ©|t}.
@ 1//m ©°19H sc+ th = 180° ©]|t}.
® 1//m©olH b = se O]t}

@ Szte] 271 G4 2AE ok,

G Eolzto] T7) G} 2R o




4. o NN I m D W, 2x 9] A71E Fofelel,
l

60°

75°




5. o2 "N 1)/ mL W, zx + 2y + £z ] 275 F5FodEt.

A
o [




o2 2ol 1)/ m o], /ABD = %zDBC
o wf, LABD 9] 27|E té}olzt, 457

35°




@ 45°

@ 50°

3 55°

@ 60°

® 65°



